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If £(t) = (2 + 3t + 2)(2t 2 + 5¢3), find £'(t).
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Suppose that f(z) = 9e® — ex*. Find f'(3).
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Use implicit differentiation to find an equation of the tangent line to the curve at the given point.

z? + y2 = (2:’:2 + 2y2 - w)Z’ (Os 1/2)
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Differentiate y =4/ 1 ~z2sinlz. QA




6. (a) Find the slope of the tangent line to the graph of y = cos(z) at (
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(b) Find the slope of the tangent line to the graph of y = cos™ (z) at <7
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(c) Show that the answers to (a) and (b) are multiplicative inverses of each other.
(Hint: Show & = (b) or (a)(b) = 1.)

-—S_E N = Ly?’\a

P>

=



	Untitled
	Untitled
	Untitled
	Untitled
	Untitled
	Untitled

